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BEARRE A7 EEIE S BRI 5 FEHR) & B (-12m)(E B) TE(HEIR)

22 ] g - BT By B = Bl & % W E
BEEIEE 128, 480, 341
FE (-12m) HEB 128, 480, 341
HE®ET 127, 386, 505
HNEERBGER 124, 775, 069
ESWHE 123, 480, 006
1 BEHRERE (BREMHE) 436. 00 6, 361 2,773, 396
m2
2 BEHERERE (RBERE) 436. 00 10, 713 4, 670, 868
m2
3 BEBRERE (RBER) 436. 00 5,191 2,263,276
m2
4 ETY M 150 x 150 x 100 16. 00 51,708 827,328
&R
5 EHY () W15 x t20~30 2,631.00 17, 624 46, 368, 744
m
6 FUIY () W50 x £20~30 172.00 42, 479 7,306, 388
m
1 BESHBMEE 1.00 197, 600 197, 600
=
8 BAGHBERE 4.00 20, 482 81,928
&
9 AIEIHF - HERImFHMHE 1.00 182, 400 182, 400
=
10 AIEHEFRE 4.00 25, 754 103,016
&
11 FRFEFRE 8.00 25, 754 206, 032
&




HEEWERE SH7EEE S BGEE S TER)E B (-12m)(E B) TE(EIR)
22 ] g - BT By = il & %

12 SXErfE B @ ER 12.00 21,130 253, 560
&R

13 URY A Y aAGBERE 2, 631.00 9,978 26,252,118
m

14 20589 a—N—8E 172.00 14, 808 2,546, 976
m

15 HBEIMHE 1.00 494,182 494,182
=

16 &I (1) BEEE 4.00 53, 581 214,324
&R

17 #EI(2) BIE LT - HEiin 12.00 53, 581 642, 972
&R

18 HEIQ) PEPZIZE 2,631.00 3,762 9,897, 822
m

19 HWEI @ VIR Ay aBIB - AV F 7 8—N— 2,803. 00 6, 492 18,197,076
m

Tk 5 RRE 1128, 138

20 TRy AFHE 1.00 241, 390 241, 390
=

21 TRy by REE ) HAEEL150 x 150 x 100 49. 00 5,512 270, 088
&

22 TRy y REE(2) HAEEL200 x 200 x 150 80. 00 7,579 606, 320
&

23 TRy o REEE (3) HAE 54300 x 300 x 150 1.00 10, 340 10, 340
&

HEEE B 139, 029

24 EBERER 1.00 139, 029 139, 029
=®

EREREBERE 27,896




BEARRE A7 EEIE S BRI 5 FEHR) & B (-12m)(E B) TE(HEIR)

% g B - iR B % = B Ol ® B =
25 BEREBREEREM (1) (=v MER) 1.00 8, 268 8,268
R
26 BEREBREEREMT 2) (=v MEK) 28BLE 1.00 5,787 5,787
R
2] EREREBREN) (= v MER) 1.00 8,142 8,142
R
28 BERBREERE Q) (=v MEK) 268BLE 1.00 5,699 5,699
i R
BEE-REL 2,611,436
AL 67,080
29 a4 — hEIA ¢ 32mm~ ¢ 52mm  L=0. 7m 24.00 2,795 67,080
7
[53 1,235,055
30 EEMEE 1.00 94, 063 94, 063
=
3 EEXEMHE 1.00 583, 407 583, 407
=
32 BEBIIET & S EREHER () PFE  22miLT 193.00 1,351 260, 743
m
33 SRBIIERT & 5 BREBEK Q) PF& 36mmLATF 90. 00 1,709 153, 810
m
34 SRBIETTE S BHREHEE Q) PF&  54mm 23.00 5, 236 120, 428
m
35 SRBIERT & S BREBEK @) CDE  22mmLL T 11.00 1,216 13,376
m
36 SRBIIER & 5 BRREBEK ) CDE  36mmLL T 6.00 1,538 9,228
m
[RE 1,309, 301




BEARRE A7 EEIE S BRI 5 FEHR) & B (-12m)(E B) TE(HEIR)

£ b R - iR~k Bf % =2 =i € & W E

37 ECRMHE 1.00 371, 831 371, 831

=
38 EBSVEMNER (1) 10mmEL T 618.00 633 391, 194

m
39 BAVENELR (2) 20mmEL T 184.00 1,516 278, 944

m
40 ESVENELLR (3) 40mmLL T 97.00 2,756 267, 332

m
BEMmET 610, 200
WTEIEET 378, 900
EEIX 378, 900
41 WEEEIL (EEIXR) 1.00 378, 900 378, 900

&Y
VUEINEET 231, 300
BEEIALZE 231, 300
42 VUEINHEI (EEEATIR) 1.00 231, 300 231, 300
EEY

BET 79,923
R BRI E T 79,923
BEER BRI & 72,423
43 ars)—REIFE Q) $200 L=300 4.00 9,243 36, 972

fl
4 225 )—REIFL Q) ¢ 100 L=300 2.00 6,991 13,982

fl




BERNRE A7 S BGEE S EHR)EE(-12m) 3 R) THE(EIR)
£ 5 R - iR~k Bf 2 i & %
45 7 o h—kn ¢ 22mm 0.04 4,290 171
m
46 EIREE R4 VTR) 3. 35t/1@ 1.00 1,905 1,905
&
47 EHERYZEL 1.00 17, 437 17,437
m3
48 a9 ) — FEEk 1.00 1,956 1,956
m3
RAL5y 7,500
49 Oy ) — rROANE Eo¥] 3.00 2,500 7,500
t
#RT 403, 713
B R L 381, 631
Em 2,608
50 L—7 14 VT BER 4.00 652 2,608
m2
s 130, 971
51 &min T (1) IRFHIA5HEE D345 D13 70. 00 1,353 94,710
kg
52 $miin T (2) IRF¥H5HEE SD345 D16 27.00 1,343 36, 261
kg
g 14, 856
53 £ &I B A ST 4R Y 3.00 4,952 14, 856
m2

avyy—+k

, 857




BEARRE A7 EEIE S BRI 5 FEHR) & B (-12m)(E B) TE(HEIR)

£ g A - BKTiE B = B @ i £ =

54 aVH ) — TR 24-12-25 (20) = %AW/ C=55% 1.00 23, 857 23, 857
m3

BRI BB 209, 339

55 ERREMEMFIE 1.00 209, 339 209, 339
=

e M 4+ 22,082

Hil L 1,993

56 o>y )— HEIFL $24 1=200 2.00 996. 9 1,993
fl

[ EED 8, 262

57 ffisBth 3.00 2,754 8, 262
m 2

AR 1,905

58 EIRIESM (1RA4 U UR) 3.35t /@ 1.00 1,905 1,905
1&

ERRYE M & 8,834

59 ERRE T4 H & 1.00 8,834 8,834
=

ELZILFE 1,088

60 EILZIILFE =F 2 0.01 81,510 815
m 3

61 EILZILFEMHE 1.00 273 273
=




BEARRE A7 EEIE S BRI 5 FEHR) & B (-12m)(E B) TE(HEIR)

22 ] g - K& B #H = B € & W E

HEREE FEL) 229, 042
HiBE R 229, 042
HEBEREE 229, 042
X 109, 042
RERER 109, 042
62 RLERE BKEE RS 1.00 109, 042 109, 042

%
HitTEEE 120, 000
BRirEE 120, 000
63 EREHRRE 1.00 120, 000 120, 000

=




BiEx A7 EEE S BGER STEHR) R B (-12m) (R B) TH(HEIR)
£ g R - BT & B £ B (@ i £

EREISE 128, 480, 341
HEIZE 9,608,062 + 34,535 909 44,143,971
HEfRERE GDH 229,042 + 8,633,878 + 745,142 9, 608, 062
HBEREE (BE) 229, 042
HBEREE ((F) 128,480,341 x 6.72% ((4.59% x1.00 +2.00%) x 1.02) 8,633,878
ReRRWEE 128,472,841 x 0.58% 745, 142
RSEEE 138,088,403 x 25.01% ((22.44% +1.84%) x 1.03) 34,535, 909
WEREEE 801, 312
RinEMEE 6,920
BREER 794,392
THIRAH 801,312 + 128,480,341 + 44,143,971 173, 425, 624
—REERFE 173,425,624 x 15.91% (15.91% x 1.00) — 7,010 27,585, 006
LRI E 173,425,624 x 0.04% 69, 370
BEEKE 4,360, 000
TH{fits 173,425,624 + 27,585,006 + 69,370 + 4,360, 000 205, 440, 000
HERERLE 205, 440,000 x 10.00% 20, 544, 000
FRIEH 205, 440,000 + 20, 544, 000 225, 984, 000




REAR-ET/Avr—

BH7EEBSEGERSEBR)FE-12mER) THEEIR)

E5:1
2% BRIBERERE (BRIEMHE) 100m 2%y
£ 5 A& - BKTiR BAfL = B @ ® # i) 5 =
IXRINVEARL XG-21
m2 122.00 2,770.00 337, 940
LLI#Z £ L-50 x50 x 4 x 2050 ¢ 1570 T 1 & FR/A
X 35.00 1, 500. 00 52,500
LLI#Z £ L-50 x50 x 4 x 2050 ¢ 157VA0 T2&Ffr/A
X 6. 00 1, 740. 00 10, 440
)y TFoh— SGA-12M
X 49.00 330. 00 16,170
TA R+ M12
& 35.00 675.00 23, 625
HovyrvoiL BEXTAH  12mm
& 35.00 175. 00 6,125
NERIL Kk (FARILE) MI2x25 REhdEfah- =
X 13.00 15.40 200
Tyl (RLESE) M12 BARERD - E
g4 13.00 4.00 52
BHENRA4T STK500 5Mx48.6 A v - BE2. 4mm
X 39.00 2,670.00 104, 130
BHENRA4T STK500 3Mx48.6 A v - BE2. 4mm
X 3.00 1,630.00 4, 890
BHENRA4T STK500 2.5Mx48.6 A% - BE2. 4mm
X 3.00 1, 360. 00 4,080
aABHSUT 128 (B -BEX24 )
& 42.00 1,200. 00 50, 400
9507 BEX
& 95. 00 200. 00 19, 000
RO ERE A #%48. 6mmFA
& 32.00 205. 00 6, 560
& & %825 £ 100.00m 2 6,361.00 636, 112




REAR-ET/Avr—

BH7EEBSEGERSEBR)FE-12mER) THEEIR)

&5 .2
&% BRBERERE (RIFHE) 100m2%1LY
2 L R - WAKT iR =-Riv] = B £ W E 5 =
EKHEER
A 1. 60 46, 800. 00 74, 880
BKE
A 6. 40 46, 800. 00 299, 520
BKERE
A 1.60 30, 470.00 48, 752
BKERKE
A 1.60 29, 540. 00 47,264
LU
A 6. 40 29, 640. 00 189, 696
LEEXE
A 6. 40 24, 020. 00 153, 728
ERIEHERE (B A X5 RE) it &2 5m3/min
H 3.20 5,117.00 16, 374|8H
I7—HIfLE 13mm
& 3.20 5, 000. 00 16, 000
JAa— k&M 2.0mx2.0mx0.3m
H 3.20 4, 500. 00 14, 400
BKEEH
H 6. 40 5, 000. 00 32,000
HTEHE
H 3.20 5, 000. 00 16, 000
JgL—oft b3 vY 4t3& 2.9tM@
B 3.20 44,2717.00 141, 686/5.80H / 8H
HME (F) 2R 0Y%
% 2.00 1, 050, 300. 00 21,006
& it YE%HEH : 100.00m 2 10, 713. 00 1,071, 306




REAR-ET/Avr—

BH7EEBSEGERSEBR)FE-12mER) THEEIR)

E5:3
£ . BHEERE (BRBEE) 100m2%1Y
% g g - BIRT & Bfr 2 B | wmE i &
BKIHEER
A 0.80 46, 800. 00 37, 440
Bkt
A 3.20 46, 800. 00 149, 760
BKERE
A 0.80 30, 470. 00 24,376
BKERE
A 0.80 29, 540. 00 23, 632
LU
A 3.20 29, 640. 00 94, 848
LRIEXE
A 3.20 24, 020. 00 76, 864
JB— &M 2.0mx2.0mx0.3m
H 1.60 4, 500. 00 7,200
BKkEEN
H 3.20 5, 000. 00 16, 000
MITESE
H 1.60 5, 000. 00 8,000
JL—ft b9y 4tF& 2.9tAm
H 1.60 44, 271.00 70, 843|5. 80H / 8H
ERE (F) 2K0%
% 2.00 508, 963. 00 10,179
& it YEEHREN £ 100.00m 2 5,191.00 519,142
&5 :4
&% : #EWY (1) 150x150% 100 IEGER,
% i g - IR & =-Eiv3 = B & il wmE i &
HSRIEXE
A 1.26 217, 770. 00 34,990
LRIEXE
A 0.47 24, 020. 00 11,289
RUEHEM (B A R xR E) 3.5~3. Tm3/min
H 0.52 5, 993. 00 3,116
EHE HEEDY
% 5.00 46, 279. 00 2,313
& F YE%8EH : 1. 00 AR 51, 708. 00 51,708




REER-FEL/Av5r—2

BH7EEBSEGERSEBR)FE-12mER) THEEIR)

&S5
%5 BYY () Wi5xt20~30 Tm Y
£ 5 - BIRTE BAfE H = B ff 25 i) 5 =
HEER
A 0.05 31, 300. 00 1, 565
HIRIEXS
A 0. 46 217,770.00 12,774
LTEEXE
A 0.09 24, 020. 00 2,161
TERIEHERE (B 7 R xR E) 3.5~3.m3/min
H 0.05 5,993. 00 299
HE FHEEDY
% 5.00 16, 500. 00 825
=) B YEZERESN - 1.00m 17,624. 00 17,624
&S .6
%5 . FEYY @) W50xt20~30 Tm Y
£ b - IR ==Fiv] #H = B i %5 i3 5 =
HEER
A 0.11 31, 300. 00 3, 443
HkEXS
A 1.12 217,770.00 31,102
LTEEXS
A 0.22 24, 020. 00 5,284
EREHERE (B A X5 RE) 3.5~3. m3/min
B 0.11 5,993. 00 659
HME FHEEDY
% 5.00 39, 829. 00 1, 991
& & YE%HEH - 1.00m 42,479.00 42,479
&5 .1
&% BREBEMHE IEEL,
% [ g - BIRTE BT #H = B i % i3 5 &
BAEH ZEEb= U H U BEERE ¢ 22mm x 125mm (EM-
CE2. 0sgq-1C4t) 1@ 4.00 49, 400. 00 197, 600
& ? 1EZREA - 1.00 197, 600. 00 197, 600




REAR-ET/Avr—

BH7EEBSEGERSEBR)FE-12mER) THEEIR)

5.8
&% BEEWRE REER
2 L R - WAKT iR =-Riv] = B £ i) 5 =
BEXBERNE
A 0.16 40, 350. 00 6, 456
WH%RIEXRE
A 0.47 217,770.00 13, 051
HHE FHEEDY
% 5.00 19, 507. 00 975
& B YE%#EH - 1. 001& 20, 482.00 20, 482
5.9
¥ BIEIRF - HERIR MR E IE=1D)
2 L] R - WAKTiER ="Riv] = B O{f %8 i3 5 =
I TE i F HFH M Z= 8 ¢ 22mm x 80mm (EM-CES5. 5sg-1C4)
& 4.00 15, 200. 00 60, 800
HERin T FHVE 8l ¢ 22mm x 80mm (EM-CE5. 5sg-1C4st)
& 8.00 15, 200. 00 121, 600
=) it YEZEREN 1. 00 182, 400. 00 182, 400
E5:10
B AEIRFERE MEHY
% L] R - WAKTiE BT = B O{f ] i3 5 =
BEXBERNE
A 0.16 40, 350. 00 6, 456
WHRIEXE
A 0.63 217,770.00 17, 495
BE#IIVOUITIILY] EHH A EFR250A
B 0.16 3,791.00 606 |8H
HME FHEEDY
% 5.00 23,951.00 1,197
& ? V%8 1. 00(& 25, 754.00 25, 754




S

BH7EEBSEGERSEBR)FE-12mER) THEEIR)

RBIR I/ vy —
&5 . 11
&% BERIRFERE KEED)
£ 5 - BIRTE =-Riv] = fif 25 i) 5 =
BRBEHNE
A 0.16 40, 350. 00 6, 456
HIRIEXS
A 0.63 217,770.00 17, 495
BRE#IIVOUITILY] TEHH A EF250A
H 0.16 3,791.00 606 |8H
HHE FHEEDY
% 5.00 23,951.00 1,197
=) B YEZERES 1. 00{@ 25, 754.00 25, 754
E5 12
£F5  SAEEEAR UERER,
2 L] - IR =-Riv] = fili %5 i3 5 =
BRBEHNE
A 0.31 40, 350. 00 12,508
BRBEHENE
A 0.31 217,140.00 8,413
HME FHEEDY
% 1.00 20,921.00 209
& & {EZ8EA ;1. 008 PR 21,130.00 21,130
B5 13
Z:URV AV A BIBHRE 25m Y
% L] g - BIRTE BT = fili £ i3 5 =
iR Ay 1B t0.6x12. 7mm  76m/%
m 217.50 7,410. 00 203, 775
HEEER
A 0.39 31, 300. 00 12, 207
WHRIEXE
A 0.79 217,770.00 21,938
LEEXE
A 0.39 24, 020. 00 9, 367
HME FHEEDY
% 5.00 43,512.00 2,175
& ? YE%HES : 25.00m 9,978. 00 249, 462




REAR-ET/Avr—

BH7EEBSEGERSEBR)FE-12mER) THEEIR)

EBE 14
B A EDA—N—RE 25m¥ Y
2 L R - WAKT iR By = B O{f £ £ i) 5 =
aAVAYB—IN— t1.0x 10mm 50m/%
m 26.25 4,270.00 112,087
HEEE
A 1.57 31, 300. 00 49 141
WH%RIEXRE
A 5.50 217,770.00 152,735
LTEEXE
A 1.57 24, 020. 00 37, 711
RENFER (B H X3 ERE) 20KVA
H 1.57 4,185.00 6, 570|8H
HE FHEEDY
% 5.00 239, 587. 00 11,979
=) B YEZEREN : 25.00m 14, 808. 00 370, 223
ES 15
£F BBEIMKE IE=1D)
2 L] R - WAKTiE =L iva = B O{f & %8 i3 5 =
ESBREGEM TIIILA—FKEILSZILSP 25kg/%
kg ,437.00 229.00 329, 073
ESBREGEM TILA—FKEILSZILRN 25kg/%
kg 721.00 229.00 165, 109
& it 1EZREA : 1.00 494,182. 00 494,182




REAR-ET/Avr—

BH7EEBSEGERSEBR)FE-12mER) THEEIR)

&= .16
W HBI(N) HBAEE IEGER,
2 L R - WAKT iR =L iva H = B O{f £ i) 5 =
WH%RIEXRE
A 0.52 217,770.00 14, 440
B
A 0.79 29, 220.00 23,083
LTEEXE
A 0.52 24, 020. 00 12, 490
HEEFEEH (BB A A5 ERE) 5KVA
H 0.52 2,055. 00 1,068 |8H
HE FHEEDY
% 5.00 50,013.00 2,500
=) B YEXHEH 1. 00&FRr 53, 581.00 53, 581
&5 11
£ BHBEI () BIESHF - BERIAF ERER,
2 L] R - WAKTiER By H = B O{f %8 i3 5 =
WHRIEXE
A 0.52 217,770.00 14, 440
EE
A 0.79 29, 220.00 23,083
LEEXE
A 0.52 24, 020. 00 12, 490
RENFER (B H X5 ERE) 5KVA
B 0.52 2,055. 00 1,068 |8H
HME FHEEDY
% 5.00 50,013.00 2,500
& & {EZ8EA ;1. 008 PR 53, 581.00 53, 581




REAR-ET/Avr—

BH7EEBSEGERSEBR)FE-12mER) THEEIR)

&= .18
B HBIQ) YR AYIAGE Tm%HyY
2 L R - WAKT iR By = B £ i) 5 =
HEEE
A 0.03 31, 300. 00 939
WH%RIEXRE
A 0.03 217,770.00 833
B
A 0.06 29, 220.00 , 153
HEEFEEH (BB A A5 ERE) 5KVA
H 0.03 2,055. 00 61|8H
HE FHEEDY
% 5.00 3,525.00 176
=) B YEZERESN - 1.00m 3,762.00 , 162
E5:19
B HBEIW) VARV AYIABE - OV E—N— Tm%y
2 L] R - WAKTiER By = B O{f %8 i3 5 =
HEEE
A 0.03 31, 300. 00 939
WHRIEXE
A 0.05 217,770.00 , 388
EE
A 0.13 29, 220.00 , 7198
RENFER (B H X5 ERE) 5KVA
B 0.03 2,055. 00 61|8H
HME FHEEDY
% 5.00 6, 125. 00 306
& & 1EZBEAN : 1.00m 6, 492. 00 ,492




S

BH7EEBSEGERSEBR)FE-12mER) THEEIR)

REAR-ET/Avr—
&5 .2
B TRy I AR E B
% 5 A& - BKTiR BAfL = B M %5 i3 5 =
BEERETILRY I X 150%x 150 % 100 B E=)L& BHKE (FED
A) & 49. 00 1,170. 00 57,330
BEERETILRY I X 200x 200 x 150 #EiL E= /L& FHKE (FED
A) & 80. 00 2, 240. 00 179, 200
BEERETILRY I X 300x300x 150 &L E= /L& FHKE (FED
A) & 1.00 4, 860. 00 4, 860
& it E¥82H : 1.00=% 241, 390. 00 241, 390
&E5 21
B TRy O REFE () #EEE150 x 150 x 100 REER,
£ b & - ARTR ==Fiv] = B @ %5 i3 i &
BT
A 0. 200 27,560. 00 5,512
HHE (F50)
= 1.000 5,512. 00 0
& it E%8EH - 1.00(@ 5,512. 00 5,512
B5 .22
B TRy O RFE(2)  #EEE200 x 200 x 150 REER,
4 b3 & - BARTIR ==Fiv] = B & 5 i3 5 =
EL
A 0.275 27,560. 00 7,579
HHE (F50)
= 1.000 7,579. 00 0
& it E%4EH : 1.00@ 7,579. 00 7,579

10




REAR-ET/Avr—

BH7EEBSEGERSEBR)FE-12mER) THEEIR)

5:23
B TRy o RFE(3)  #EEEL300 x 300 x 150 REER
2 L R - WAKT iR By = B £ i) 5 =
SR
A 0.375 27, 560. 00 10, 335
HHE (F50)
= 1.000 10, 335. 00 5
& it 1EZ8EH - 1.00(® 10, 340. 00 10, 340
E5:24
2 EmERER 1XHY
2 L] R - WAKTiER By = B O{f %8 i3 5 =
BEXBERNE
A 2.00 40, 350. 00 80, 700
BEXBERITE
A 2.00 27,140.00 54, 280
HE FHEEDY
% 3.00 134, 980. 00 4,049
& & YE¥HeH - 1.00K 139, 029. 00 139, 029
ES:25
&% BREREERMT ) (a=y MEER) 1=y k&Y
% L] R - WAKTiE B = B O{f ] i3 5 =
BI
A 0.300 27,560. 00 8,268
HHE (F50)
=® 1.000 8,268.00 0
& it 1EERERN :1.00=v k 8,268.00 8,268

11




REAR-ET/Avr—

BH7EEBSEGERSEBR)FE-12mER) THEEIR)

5 :26
£ EREREEREMQ2) A=y MER) 28BHLKE 2=y kHyY
2 5 - BIRTE BAfE = il EAE W E 5 =
BT
A 0.210 21, 560. 00 b5, 787
HEE (FH0)
= 1.000 5,787.00 0
& it TEZEREAH - 1.00=w k 5,787.00 5 787
&5 21
2% BEREREERAEN (=v MEER) 2=y rHyY
£ L] - IR BT = fili & W E 5 =
BEXBERITE
A 0. 300 217,140.00 8,142
HHEE (F5H0)
= 1.000 8,142.00 0
= it EZEREN - 1.00=w + 8,142.00 8,142
E5 .28
£ EREREBEREQ 1=y MER) 26BUK 11=vk5Y
£ L] g - BIRTE BT = fili & W E 5 =
BEXBERITE
A 0.210 27,140.00 5,699
HHEE (F50)
= 1.000 5, 699. 00 0
& it YE¥REN 1,002 = + 5, 699. 00 5,699
55 :29
M. arvs)—rEIFL  ¢32mm~ ¢52mm  L=0. 7m 1H.4Y
£ g g - BIRTE BT = fili EE W E 5 &
avy)—hElf ¢ 32mm~ ¢ 52mm L=0. 7m
. 1.00 2,795 2,795
& it 1EZREA : 1.007L 2,795 2,795

12




S

BH7EEBSEGERSEBR)FE-12mER) THEEIR)

RER-TEL/\vr—
&5 :30
& EMHE XLy
% g R - WIKTE By B = fii ) it " &
SRBIENT L S ERE PF-D&E (ZEE) 16(mm)
m 59.00 102. 00 6,018
SRBIENT L S ERE PF-DE (ZEE) 22(mm)
m 134.00 146. 00 19, 564
SRBIENT L S ERE PF-D&E (ZEE) 28(mm)
m 12.00 194. 00 2,328
SRBIENT L S ERE PF-D&E (ZE%E) 36(mm)
m 78.00 342.00 26, 676
EREIERA L S ERE PF-DE (ZE%E) 54(mm)
m 23.00 1,660. 00 38, 180
EREIERA L S ERE CDZ 22 (mm)
m 11.00 52.50 577
EREIERA L S ERE CDZ 36 (mm)
m 6. 00 120. 00 720
= it 1E¥8eH - 1. 00K 94,063. 00 94,063
&5 31
2 BEXBMHE XLy
% b R - WA ==X v] B = {ii 28 i w =
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